Math 1251: Worksheet #3 Winter 2018
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1. Find the volume of the solid obtained by revolving the segment of the curve y = z + 1
between z = 1 and z = 2 about the z-axis.
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2. A particle moves in a straight line so that its velocity after ¢ seconds is v(t) = ¢3 — 3¢2 +2¢
metres per second.

(a) Find the net displacement of the particle over the time interval 1 < ¢ < 3.
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(b) Find the total distance travelled by the particle over the time interval 1 o .. " {()
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3. Sketch the curves y =4 — 2 and y = —z* + 2z + 8 and find the area bounded between
them. (Show all your work.)
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4. Find all k such that the average value of f(z) = ke®/? — 1 over [0, 2] is equal to 2.
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